Chapter 19 Consolidated Statement of Financial Position with Consolidated Adjustments
Answer – Exercise 1
Solution:

W1
Shareholdings in S Ltd.
	
	%

	Group
	90

	Non-controlling interest
	10

	
	100


W2
Unrealised profit in inventory

= $18,000 x 50/150 x 2/3 = $4,000

	Consolidated adjustment:
	Dr ($)
	Cr ($)

	Group retained earnings (4,000 x 90%)
	3,600
	

	Non-controlling interest (4,000 x 10%)
	400
	

	Group inventory
	
	4,000


W3
Net asset of S Ltd

	
	At date of acquisition
	At the reporting date

	
	$000
	$000

	Share capital
	5
	5

	Share premium
	5
	31

	Unrealised profit in inventory (W2)
	-
	(4)

	Net assets
	10
	32


W4
Calculation of Goodwill
	
	$000

	Parent holding (investment) at fair value
	34

	NCI value at acquisition
	4

	
	38

	Less: Fair value of net assets at acquisition (W2)
	(10)

	Goodwill on acquisition
	28

	Less: Impairment
	(10)

	Carrying goodwill
	18


W5
Non-controlling interest

	
	$000

	NCI value at acquisition (W4)
	4

	NCI share of post acquisition reserves [10% x (32 – 10)]
	2.2

	Less: NCI share of impairment (10% x$10)
	(1)

	
	5.2


W6
Group retained earnings

	
	$000

	H Ltd
	159

	S Ltd: 90% x (32 – 10)
	19.8

	Less: Impairment (90% x 10)
	(9)

	
	169.8


Consolidated statement of financial position as at 31 December 2010
	Non-current assets
	$000
	$000

	Goodwill (W4)
	
	18

	Property, plant and equipment (100 + 30)
	
	130

	
	
	148

	Current assets
	
	

	Inventory (90 + 20 – 4 (W2))
	106
	

	Trade receivables (115 + 25 – 22 Interco)
	113
	

	Cash (10 + 5)
	15
	234

	Total assets
	
	382

	
	
	

	Equity and liabilities
	
	

	Equity
	
	

	Share capital
	
	15.0

	Retained earnings (W6)
	
	169.8

	
	
	184.8

	Non-controlling interest (W5)
	
	5.2

	
	
	190

	Non-current liabilities
	
	

	(120 + 28)
	
	148

	Current liabilities
	
	

	(50 + 16 – 22 Interco)
	
	44

	Total equity and liabilities
	
	382
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